
INSTRUCTIONS—INSTRUCCIONES—CONSIGNES 

     

     

     

Westin Automotive Products, Inc. 

5200 N. Irwindale Ave. Ste 220 

Irwindale, Ca 91706 

Thank You  for choosing Westin products 

For additional installation assistance please call 

Customer Service (800)793-7846 

APPLICATION: FORD F150 2009-2010 

PART#  37-02500, 37-02505 

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1 1 LIGHT BAR ASSEMBLY 18MM SOCKET AND RACHET 

2 2 M12 DOUBLE NUT PLATE 18MM WRENCH 

3 4 M12 X 40MM HEX BOLT TORQUE WRENCH 

4 4 M12 FLAT WASHER 15MM SOCKET AND 

RATCHET 

5 4 M12 SPRING TYPE LOCK 

WASHER 

 

1. Remove contents from box. Verify that all parts listed are present and free from damage. Read installation instructions carefully before 

attempting installation. 

2. If the vehicle is equipped with front tow hooks, remove them by removing the 15MM bolts from below the vehicle frame. If the vehicle 

is a two wheel drive model. A pocket must be cut out of the lower plastic valance such as in a four wheel drive model.  

3. Insert one M12 double nut plate into each of the front vehicle frame rail and align with the two holes at the bottom of the frame. 

4. Attach the light bar assembly to the bottom of the frame rails using the M12 hex bolts, washers, and lock washers to secure to the nut 

plates already inserted.  

5. If desired, the factory tow hooks can be installed below the light bar brackets in their original positions. It is recommended to use the 

factory fasteners to secure the tow hooks and light bar. 

6. Align light bar as desired and tighten all fasteners. Tighten to 30-45 lbs/ft 


